5S Audit Schedule RSWM -KGM (Round 5)

Dat 01
S.N Zone Name Feb. Score LT R
core Score
T 93 94 1
1
2 Spinning-9 93 93 0
3 S)-11 93 94 1
4 Health Center 91 93 2
5 Maintenance-SJ-11 90 92 2
6 Store 88 88 ]
85 86 1
7__|[staff Club
s Post Spinning -9 79 84 5
HRD 79 81 2
9
10 Maintenance-1,2,3 78 78 0
1 Training 77 82 5
19 Spinnning-4-6 76 81 5
13 Post Spinning-1-3 75 77 2
14 Engineering -Sj-11 73 79 6
15 Post Spinning-4-6 72 77 5
Maintenance-9 71 72 1
16
Fibre dying & Yarn
7 7!
17 [devt. ° 5 5
NPD 66 68 2
18
19 Security gates -3 65 67 2
Canteen -5 65 70 5
20
65 68 3
21 [Bachlor hostel
62 68 6
22 |Guest House
23 Engineering Utility 62 65 3
2 Worker's colony 61 57 -4
S d 58 59 1
55 |Scrapyar
2% Maintenance-4,5,6 53 60 7
RM Godown+Waste
4 4
27 |Godown 50 s
45 55 10
28 |Staff Colony
29 Spinnning-1-3 41 48 7
30 Engineering 1-3 39 67 28
2 Washroom's 30 36 6
2 Engineering 9A-98 25 35 10
33 Engineering 4-6 10 45 35
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